
MATH 249
Worksheet #1

1. (a) Solve for x: j2x+ 1j � jx� 2j

(b) Solve for x:
3

x+ 1
>
1

3
.

2. Find the radius and centre of the circle x2 + 4x+ y2 � 2y = 11:

3. Solve for x:

(a) jx+ 1j+ 2 > 0

(b)
3

x+ 1
� 2

x+ 3
.

4. Given four lines l1 : 3x+ 2y = 1 l2 : 2y � 3x = 0 l3 : 3x� 2y = 0 and l4 : 2x� 3y = 2
choose all which are

(a) parallel

(b) perpendicular.

5. Solve for x:

(a)
1

x+ 1
� 1 + x

(b) j3x� 2j > 0.

6. Find an equation of the line (a) perpendicular (b) parallel

to the x-axis passing through the point (�1; 3).

7. Solve for x:

(a) 3x+ 7 > x2

(b)
x

2
<

2

x+ 3
.

8. Which of the given circles has bigger radius

x2 � 6x+ y2 = 7 or x2 + y2 + 2y = 15 ?

9. Simplify for h 6= 0; 7
3h+4
7�h �

4
7

25h
7

:

1



10. Simplify and �nd the restrictions on x
1

1 + 1
x+1

:

11. Simplify and �nd the restrictions on x
x3 + 5x2 + 6x

12 + x� x2 :

12. Simplify and �nd the restrictions on x
x

x2 + x� 2 �
2

x2 � 5x+ 4 :

13. Solve
x

x� 1 <
1

x+ 1
:

14. Solve
x

x� 1 >
4

x
.
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